Week 7
Wednesday 6th May 2020
Yr 5- Reasoning and Problem solving
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Ta.If 1kg = 2.21bs, which weightis the odd
one out? Why?

225 1.1bs

« Tenfins of syrup.
« Ten packels of spaghetfi
«  Five bags of sugar

Tb.1f Tkg = 2.21bs, which weight is the odd
one out? Why?

1.1ibs

* One bag of flour
+ Fourtins of beans
+ Four packels of biscuils

different solufions fo this statement.

1 pint = 568ml

10 pints.

hig

2b. Use all four digit cards to find two.
different solufions fo this statement.

1 pint = 568ml
2pints < ml < 4pints

heig

3a. Jim needs 100 inches of sting. String is
Sold in 10em lengths.

lisasays.
“100 inches is about 254cm so you will

need 26 pieces of shing.”

I Vinch
Explain why.

i .

4cm, s Lisa comect?

3b. Hafsah needs some 10 inch lengths of
fishing wire for a craft project. Fishing wire.
is sold in 100cm lengths.

Kyle says,
“10inchesis 26.4cm so you can get four

10 inch fishing wire from each length.”

I Tinch = 2.54cm is Kyle comrect?
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4a.1f 1kg = 22lbs, which weight s the odd
one out? Why?

1.5kg 33ibs

+ Five bags of flour
« Five packs of spaghetii
«  Thiee bags of sugar

4. 1f 1kg = 2.21bs, which weight s the odd
one out? Why?

1.1ibs. 25k

+ Five fins of beans
+ Four packes of biscuils
+ One fins of syrup.

X .

Sa. Use all four digit cards fo find three
different solufions to this statement.

1 pint = s68ml

3 pints

hoig

5b. Use all four digit cards fo find three
different solufions fo this statement.

2 pints = 1,136ml

3 pints

b

< ml < 4pints

4a. Kaitiyn needs 2m of bamboo in fofal.
Sticks of bamboo are sold in 6 inch
lengths.

Michelle says.

“4inches is 15.24cm, which means that
you will need fo buy 12 lengths of
bamboo fo have 2m.”

I 1inch = 2.54cm, is Michelle correct?
Explain why.

e )

6b. Cameron needs fo cut six 5 inch
lengths of fabric o make a puppet. He
has 70cm of fabric.

Lacey says.

“70cmis about 70 inches so you can
cutfive lengths of § inches.

I Tinch = 2.54cm, is Lacey comect?
Explain why.

b .
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7a. Which weight s the odd one out?
Why?

1.65kg 1.1bs

+ Two bags of flour
« Five packels of biscuils
« Sixtins of beans

% .

7b. Which weight s the odd one out?
Why?

025kg osibs 10009

ight packs of spagheti
ix bags of sugar
+ Twofins of syrup

% .

8a. Use all four digit cards fo find four
different solufions to this statement.

25 pints

k4

8b. Use all four digit cards o find four
different solufions fo this statement.

2.2 pints

#

< mi < 28pints

9a. Hana needs 50 inch lengths of ribbon
fo wrap presents. Ribbon is sold in ém
spools.

Justin says,

“You will be able fo wrap § presents with
one spool of ribbon.”

Is Justin correct?
Explain why.

hE ¢ .

9b. Marsha needs 3.5m of wood for her
‘window box. Wood is sold in 40 inch
planks.

Xin says,

“You will need fo buy 3 planks of wood
50 you have enough.”

Is Xin comect?
Explain why.

* .





